Total Pages: § UG-C-6001-BCA

2024
Full Marks : 70

Time : 3 hours
Answer from both the Groups as directed.

The figures in the right-hand margin indicate
marks.

Candidates are required to give their answers
in their own words as far as practicable.

GROUP—A

Answer any four questions: 10 x 4

1. Define Operation Research and discuss its
scope.

2. Explain General mathematical model of
linear programming problem.

3. Solve the linear programming problem
graphically:
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 UG-C-6003-BCA

2024
Full Marks - 70

Time : 3 hours
Answer from both the Sections as directed.

The figures in the right-hand margin indicate
marks.

Candidates are required to give their answers
in their own words as far as practicable.

' SECTION-A
- Answer any four questions: 10 x 4

1. Define file system. Explain the file system
tree architecture of Linux OS.

2. Define Linux OS. Describe the features of -
~ “Linux. |

‘3. Whois system administrator ? Explain'the

role of system administrator in linux OS
with commands.

( Turn Over)
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UG-C-6002-BCA

2024
Full Marks : 70 .

| Time : 3 hours
Answer from both the Groups as directed.

The figures in the right-hand margin indicate
: marks.

Candidates are required to give ‘t'l.1e.z'r answers
in their own words as far as practicable. -
'GROUP—A
Answer any four quéstions: 10 x 4
1. | Define Planning and its features." .

2. Describe any five Fayol’s principle of
management. L ‘

3. : Define Management and its fiinctions.
4. Describe the importance of management.

3. Define Decentralisation and its advantages.

( Turn Over)
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© UG-C-6004-BCA

2024
Full Marks : 70

Time : 3 hours

Answer from both the Groups as directed.

The figures in the right-hand rhargin indicate
g marks.

Candidates are required to give their answers
in their own words as far as practicable.

GROUP—A

Answer any four questions:

1. What do you mean by network security ?
Explain the various types of security
mechanism used in network security.

10 x4

2. Define cryptography. State and explain the
principles of public key cryptography.

3. ExplainRSA algorithm in detail. Perform
decryption and encryption using RSA
algorithm with p =3, ¢ =11, ¢ =7 and
N:: 5. ‘ ] »

( Turn Over)
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UG-C-6007-BCA

2024
Full Marks 70
Time : 3 hours
Answer from both the Groups as directed.

The figures in the right-hand margin indicate
e marks. .

Candidates are reéuired fo give their answers
in their own words as far as practicable.

GROUP—A
Answer any four questions: 10x4
1. Define MIS. Explain structure of MIS. List-
important advantages of MIS.

- 2. Information requirements vary at difterent
levels of management in an organisation.
Discuss various types of information

‘system that might be useful to managers
depending on their roles and responsibi-
lity with the help of an example.
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